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BEATIE . MEHm BEEH i
Frprr— iR Y1EER
s e g s . Ei HEE A B e  {BE EH HEE A = |ue]  (HE
RIRFNER (220) RE#S  |[v)1h, so5t 100| & ov7s  [FENs 600| #&
FEHh HErE e BE |mul FE Bk 7°), e53°4+ 100| & KA =HEN TH) 1,000| kg
x5 B ¥t'+31°3k 100 {& ERES kA, E33°4F 100| & HhaEsn AXEBEH |EI 100| kg
X %H £ 1773k 30| {& x5 B ATIA 200| 1@ FES B pid=] 50| ke
30 LB KP4k & HHEE 100| & BE xS 7% 40| kg
BB A INPY 4~5k & ER 100| {& H 2,290 kg
BERE i & Wtn 100| & 1,100 #
H 130 {8 Fow 5 &
A heast 150| & 5 4940 ke
EEE_H &4n ke 3,380 {E&
BEpt s RER HOLEN |FEIAS _ 50| 1@ 1,400 &
H kg 4,350 #
Eih HErE pt E sl {FE 2,100 {&
3] R ETY 500 kg
) 143 150 {& 5
15 4n, Ak 5 150 {& AR
D] *U4hst 100| {& Eit HEE it = | {FE
IMEE 1% & Fi& FlE FAV545 150 ke
TF hot & H¥F FEEFALE5T'4 800 kg
g5 VT 5 & B kst B, s 200| kg
FI4SH 444 50| & B P by N 100 ke
by S ils 100| ke Ry -t EETA 100| ke
X5 Fi& ENE ke kst ke
KRS 75 & 1RIE ZR EVav475° 54 200| ke
M THERTYY |FEAL1H 50| {& BE K ETHY 100| ke
H 600 kg 5 1,650 kg
500 {&
— EEAHE  ERHM
RER EXEmEH
Eih HEE e BE |mul  {EE 5
1= E ek st 10 50| {& AR
ZHR 100| {& Eit HEE it = | {FE
B8 7Y5 100| {& REAS bi77:: 0 8 =29 3,000| #&
il HA. Lyast 200| {& st =TS 250( #&
R K1hst 100 {& BEREN [AvF990%  |ThonF 1,000| &
hE= BEE5 1R 50| {& =#45 #E52 150| &
TE K1hst 50| {& FiFsN st *N\TF 150( &
B wtq N5t & s EARE 100| &
H 650 {& BES KEMS  |FTEFS 400( kg
5 400 kg
EXEEH 1,400 &
e 3,250 &
Ei HErE Al BE |mal fHE YSEE
RiE EHE )4h5t 500( {& .
VAN &= 1) 8 100 {& R
LB *U1hst & Ei HEE A = |ue| (HE
&R ER 300| {& HE 5 HE 4T 1,000/ kg
FEIA 100 {& 7OE 100| kg
wWEN 100| {& &= 500| 4%
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